ECON 306: The Economics of Health & Education

Internal Assessment Test 2007

(worth 15% with plussage)

12 September 2007

Time available: 50 minutes

Note: There are two sections to this test: 
(A) 20 multi-choice questions (20 marks), and 


(B) 1 ‘long-answer’ question (15 marks).

SECTION A (20 marks)

Answer ALL 20 questions on your multi-choice answer sheet by choosing the answer that is ‘most correct’. Each question is worth 1 mark.

1.
It is often said that so-called developed countries (e.g. New Zealand) practise “flat of the curve” medicine? What does this mean?

(a)
Because developed countries spend a relatively large amount on health care, the opportunities for further dramatic health gains have already largely been exhausted.

(b)
Although developed countries spend a relatively large amount on health care, the opportunities for dramatic health gains have yet to be realised.

(c)
Although so-called developing countries (e.g. in Africa) spend a relatively small amount on health care, the opportunities for dramatic health gains have yet to be realised.

(d)
It means nothing; it’s gibberish.

2.
An individual’s life expectancy is both endogenous and exogenous. In other words, how long a person lives depends

(a) 
on both her endo-genetics and her exo-genetics.

(b) 
entirely on the choices she makes and the environment she lives in.

(c) 
entirely on random factors outside of her control, such as catching diseases or having accidents.

(d)
on the choices she makes as well as things outside of her control.

3.
Suppose you have to pay a $30 fee and wait 45 minutes (worth $20 to you) to see your proctologist. Your ‘true’ price elasticity of demand ― i.e. recognising both of these opportunity costs ― is equal to –2. Suppose the fee doubles to $60. With respect to this rise, what would be your ‘observed’ elasticity if you (mistakenly) ignored the $20 time cost when calculating your observed elasticity?

(a) 
–1.0

(b)
–1.8

(c) 
–1.2

(d)
–0.6

This information and the diagram relates to questions 4 & 5.

In the diagram, D is an individual’s demand curve and P is the price charged for a particular type of health care, in the absence of any subsidy.
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4.
If a 75% coinsurance (i.e. whereby the consumer pays 75% and the insurer pays the remainder) were introduced, how much moral hazard would there be?

(a)
Nil

(b) 
2 units of health care

(c) 
4 units of health care

(d) 
6 units of health care

5.
How much would a 75% coinsurance cost the insurer with respect to the individual represented in the diagram?

(a)
$10

(b) 
$20

(c) 
$60

(d) 
$80

6.
The observation that an increase in the supply of doctors to an area is matched by an increase in the price of doctors’ services (rather than a price decrease) can be explained via the Supplier Induced Demand hypothesis. Which of the following is also a plausible explanation for this observation?

(a)
An increase in the supply of doctors reduces time and travel costs to consumers, causing demand to increase.

(b) 
An increase in the supply of doctors increases consumers’ perceptions of the quality of the health care available, causing demand to increase.

(c) 
An increase in the supply of doctors may correspond to a contemporaneous increase in demand for reasons such as an ageing population or rising consumer incomes.

(d) 
All of the above.

7.
Which of these would be likely to reduce the extent of Supplier Induced Demand?

(a)
Doctors being remunerated on a ‘capitation’ basis rather than a ‘fee for service’ basis.

(b)
An increase in the number of doctors coming out of medical schools.

(c)
A reduction in the medical and health knowledge of the general population.

(d)
Less advertising and other competitive behaviours by doctors.

This information relates to questions 8 - 11
Two individuals, Puck and Peaseblossom, have identical utility (U) functions: U = 2 ( √Y. They also have identical incomes (Y) of $10,000 each. Puck’s risk of getting sick is 0.3 and Peaseblossom’s risk of getting sick is 0.7. If they get sick, they lose all of their respective incomes. If they are well, they have their respective incomes.

8.
What is the maximum premium that Puck would be willing to pay for health insurance to cover his potential loss of income? And what is Puck’s risk premium? (Hint: A diagram might help you with this and the next questions.)

(a)
Maximum premium = $200. Risk premium = $140.

(b)
Maximum premium = $3000. Risk premium = $2100.

(c)
Maximum premium = $5100. Risk premium = $3000.

(d)
Maximum premium = $5100. Risk premium = $2100.

9.
What is the maximum premium that Peaseblossom would be willing to pay for health insurance to cover her potential loss of income? And what is Peaseblossom’s risk premium?

(a)
Maximum premium = $9100. Risk premium = $2100.

(b)
Maximum premium = $7000. Risk premium = $2100.

(c)
Maximum premium = $10,000. Risk premium = $7000.

(d)
Maximum premium = $9100. Risk premium = $7000.

10.
Assuming that the insurer cannot distinguish between Puck’s and Peaseblossom’s individual risks of getting sick, what actuarially fair premium (from the insurer’s point of view) would it set for each of them?

(a)
$3000

(b) 
$5000

(c) 
$7000

(d) 
$10,000

11.
If the insurer has to add a ‘loading’ of $500 (e.g. for administration costs) to the actuarially fair premium it charges (given the insurer cannot distinguish between Puck’s and Peaseblossom’s individual risks), what is the nature of the adverse selection problem here?

(a) 
Neither Puck nor Peaseblossom will buy insurance.

(b)
Only Puck will buy insurance.

(c) 
Only Peaseblossom will buy insurance.

(d) 
In fact, there is no adverse selection problem here; both Puck and Peaseblossom will buy insurance.

12.
Which of these utility functions for an individual is consistent with risk neutrality (in contrast to risk aversion or risk loving)?

(a) 
U = 2 ( Y2
(b)
U = 2 ( √Y

(c) 
U = 2 ( Y

(d) 
U = 2 ( Y½
13.
For a risk-averse person, which of these would cause her or him to demand less health insurance?

(a)
An increase in risk aversity.

(b) 
An increase in the risk of getting sick or injured.

(c) 
An increase in the insurer’s ‘loading’.

(d) 
An increase in the size of the loss if she or he gets sick or injured.

14.
Which of these models of hospital behaviour can be used to explain the often-observed phenomenon of rapidly rising hospital costs? 

(a)
The ‘organism’ model.

(b) 
The ‘quality-maximisation’ model.

(c) 
The ‘quantity-maximisation’ model.

(d) 
The model whereby services with low price elasticity of demand are used to cross subsidise high elasticity services.

15.
What is the main defining characteristic of so-called ‘exchange’ models of hospital behaviour?

(a)
The hospital is a profit maximiser.

(b) 
The hospital has many groups interacting within it, all with potentially disparate and conflicting objectives.

(c) 
The hospital has to consider the trade off between maximising the quantity and quality of the services it produces.

(d) 
The hospital acts as a single entity when determining its objectives.

16. Which of these groups of countries has a health care system based on social insurance?

(a)
USA

(b) 
Denmark, Sweden, UK

(c) 
Botswana, Luxembourg, South Africa, Sri Lanka, New Zealand

(d) 
Germany, France, Belgium, the Netherlands, Austria, Switzerland

17.
Which of these statements is true?

(a)
Most OECD countries have reformed or are in the process of reforming their health care systems.

(b)
Social insurance health care systems tend to suffer from the “paradox of excess and deprivation”.

(c)
Health care prices and spending have increased faster in public health care systems than private insurance health care systems.

(d) 
Public health care systems have tended to be over-funded in recent years.

18.
In the US, spending on health care accounts for approximately what proportion of GDP?

(a)
0.8%

(b)
8%

(c)
14%

(d)
20%

19.
The attempt to generate greater competition between providers of health care in a public health care system, in order to increase efficiency, is known as

(a)
“The Purchaser-Provider Split”

(b)
“Quasi- or internal- markets”

(c)
“Managed/regulated competition”

(d)
All of the above.

20.
Following the last set of major reforms to the New Zealand health care system in 2000, which of these is a defining institutional feature?

(a)
4 Regional Health Authorities (RHAs)

(b) 
14 Area Health Boards (AHBs)

(c) 
23 Crown Health Enterprises (CHEs)

(d) 
21 District Health Boards (DHBs)
SECTION B (15 marks)
Answer ONE of these two questions (do NOT answer both). 

EITHER: 
Suppose a person is diagnosed with a life-threatening illness. Despite being quite sick, he manages to keep working but is, understandably, concerned about his health. 

Use Wagstaff’s (1986)* four-quadrant model to show the likely effects on his demands for health and health care respectively. Carefully explain the intuition of what you have shown. (And be careful to label your diagram correctly.)

OR: 
In most developed countries, the government is heavily involved in the provision, funding and regulation of health care. Why?
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* A. Wagstaff (1986), “The demand for health: theory and applications”, Journal of Epidemiology and Community Health, 40, 1-11.
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